
Front and Rear Wider Fender Flares for Polaris RZR
XP 1000 2024
ZP-YJ-030510-018

BEFORE YOU BEGIN

Read these instructions and check to be sure all parts and tools are accounted. Please retain these
installation instructions for future reference.

IMPORTANT
This Fender Flares are exclusively designed for your vehicle. Please read the installation
instructions thoroughly before beginning. Installation is easier if the vehicle is clean and free of
debris.

INSTALLATION INSTRUCTIONS
Product picture

Front Fender Flares

1. According to the numbers on the back of the
fender flares, use screws to assemble the
fender flare No.1.2.3.4 into a whole. As the
picture shows:

2. After unscrewing the 4 screws on the original
fender flares, place the new wider fender flares
on the original fender flares, and then screw the

M4*12 self-tapping screws

M6*16 hex socket screws

M3*10 self-tapping screws

M6*16 hex socket screws



Front and Rear Wider Fender Flares for Polaris RZR
XP 1000 2024
ZP-YJ-030510-018

removed 4 screws back to the original positions,
and use the M5*16 self-tapping screws in the
product package to reinforce in turn. As the
picture shows:

Rear Fender Flares

1. Assemble the rear fender flares according to
the assembly method of the front fender flares.
As the picture shows:

2. After unscrewing 1 screw on the rear fender
flare of the original vehicle, place the new wider
fender flare on the original fender flare, and
then screw the removed screw back to the
original position, and use the M5*16
self-tapping screws of the product to reinforce
in turn. (The other side can be installed in the
same way). As the picture shows:

M6*16 hex socket screws

M4*12 self-tapping screws



Front and Rear Wider Fender Flares for Polaris RZR
XP 1000 2024
ZP-YJ-030510-018

3. The installation is complete.

Use the original screw to fix

Use the self-tapping screw to fix



Front and Rear Wider Fender Flares for Polaris RZR
XP 1000 2024
ZP-YJ-030510-018

Note: Please refer to the installation video in
the Amazon listing before your installation, or
contact the seller for the installation video.


